[ number of missing inner layers | [ number of missing outer layers |
1 Entries 2 1g Entries 2
E Mean 0 = Mean 0
F Std Dev 0 F Std Dev 0
I | I T T
10 1§_ Entries 2 10 lg_ Entries 2
F Mean 0 F Mean 0
o Std Dev 0 o Std Dev 0
-2 efiiiifiiiidi... 1 -2 efiiiifiiiido... 1
10 E Entries 2 10 E Entries 2
F Mean 0 F Mean 0
r Std Dev 0 r Std Dev 0
103 T 1073 ]
E Entries 2 o Entries 2
r Mean 0 r Mean 0
10_4 Std Dev 0 10_4 Std Dev 0
E Entries 2 E Entries 2
N Mean 0 N Mean 0
10—5 - Std Dev 0 10—5 - Std Dev 0
.91059_.........|....I....I....I....I....I....I....I.... .91059_.........|....I....I....I....I....I....I....!....
T F T F :
@ [ 24 L .
— — d
0‘95- 1 N N N N N N N N 0‘95- 1 N N N N N N N N
0 05 115 2 25 3 35 4 45 5 0 05 115 2 25 3 35 4 45 5
u
- 4
(e .
= 20 Entries 2
» o Mean 15
> 19'_ Std Dev 0
/u\) E R R |
= r : Entries 2
é 18 - -+ -+ Mean 15
F . Std Dev 0
17:— : : I
r Entries 2
16 Mean 15
o Std Dev 0
15 I |
- Entries 2
14'_ Mean 15
F Dev 0
E R R i
13: Entries 2
F Mean 15
12:_ - Std Dev
11
o;w:""i""i""i""i""i"" o tu AT P PR RO T T I ' P P T T
g I £
v : : a4 [
: 5 i+
0.95L : : - 095kt R T
=3 -2 -1 0 1 2 3 10 11 12 13 14 15 16 17 18 19 20
track n track hits
[Nofreco track vs pT |
Entries 143225 - T Entries 26
Mean 2.115 B : Mean 20.21
Std Dev 5.971 L 1 [ pev 20.29
: | T 1] [ P — 1
= Entries 143225 C s s 27
10_2 Lol ] Mean 2.115 N 1[ 20.1
E Std Dev 5.971 5 kv 19.8
E ; I 10 1
B Entries 143225 tligs 27
3] an 2.115 : 20.1
10 E L;“mev 5.971 1072 : ev 10.8
E =] . |
r Entrids 143225 14s 26
_4 Mean 2.115 . P4 20.21
107°F Std De 5.971 107 : iy 20.29
3 | | : |
F Entries 143225 Entries 26
B Mean 2.115 : Mean 20.21
:LO_5 E Std Dev 5.971 10*5 : Std Dev 20.29
—6- MEFETIT B MEFEETIT -6, | .
olov3r ; o 103 !
= : = :
g il I
‘“llluulllllll“ll:' [ L L
1
;_I-TTTTTTTTTTTTT'[””|E||||‘ L
095 i ’ v . 005 i > .
10 1 10 10 10 10 1 10 10 10
TP p. track p_



	Contents
	Page 1


